HEER

FEER 0 0
ZERAR 15,000 15,000
rxm| AF R 150,000 150,000
Az#| AERFRA R HIXA #hX4t
BEN (4AD) 23,000 23,000 S5AZ&LDORERE
USXE (4B%) 5,000 5,000 "
iRt = 15,000 30,000
HHEBME 5,000 5,000 EBHTU> MY
REE 24,000 24,000( AFRF—IE
B HHMEE 10,000 10,000
AZEHNAELES 82,000 97,000
Azg|BRIBE, B - S1-XRE 150,000 150,000
a &t 150,000 150,000
mrh| 1ERIRER - IS XE 308,000 308,000 [ 1F:R4ASFIADMARCEENET.
2L B (MY S e 15,000 30,000
2EIRER - OSXE 336,000 336,000
34ERIAst 659,000 674,000
#wast 891,000 921,000 % 3ZE&H - AFE%IR<

2R 23,000/ 05 XE 5,000x11

#2544 23,0005 X#5,000%12



